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=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2014 
SENIOR SECONDARY EXAMINATION, 2014 

¶……Ë i…EÚ  ¥…Y……x… 
PHYSICS 

∫…®…™… :  3 
4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 56 
 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… :  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â*  
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ∫…¶…“ |…∂x… EÚÆ˙x…… + x…¥……™…« ΩË˛*  
  All the questions are compulsory.  
 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  
  Write the answer to each question in the given answer-book 

only. 
 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â*  
  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ / 

 ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â*  
  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 
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 6. |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x…  

  1 – 13 1  

  14 – 24 2  

  25 – 27 3  

  28 – 30 4  

  Q. Nos. Marks per question  

  1 – 13 1  

  14 – 24 2  

  25 – 27 3  

  28 – 30 4  

 7. |…∂x… ∫…ΔJ™…… 21 i…l…… 27 ∫…‰ 30 ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛*  
  There are internal choices in Q. Nos. 21 and 27 to 30. 

 8. {…Æ˙“I…… ®…Â EËÚ±…E÷Ú±…‰]ıÆ˙ E‰Ú ={…™……‰M… EÚ“ +x…÷®… i… x…Ω˛” ΩË˛* 
  Use of calculator is not allowed in the examination. 

1.  BEÚ EÚ…§…«x… |… i…Æ˙…‰v…EÚ EÚ… ®……x… Ω× 31062  i…l…… ∫…¡i…… 5% ΩË˛* <∫…E‰Ú ¥…h…« EÚ…‰b˜ E‰Ú x……®… 
GÚ®… ∫…‰  ±… J…B* 

 A carbon resistor has a value of Ω× 31062  with a tolerance of 5%. 
Write colour code for this resistor in sequence. 1   

2. ™… n˘ S…÷®§…EÚ“™… BEÚ±… w…÷¥……Â EÚ… +Œ∫i…i¥… Ω˛…‰i…… i……‰ S…÷®§…EÚi¥… ∫…®§…xv…“ M……=∫… EÚ…  x…™…®… C™…… 
∞¸{… O…Ω˛h… EÚÆ˙i…… ?  

 If magnetic monopoles would have existed, how would the Gauss' law 
of magnetism be modified ? 1 

3. |… i…S…÷®§…EÚ“™… {…n˘…l…«  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ? BEÚ =n˘…Ω˛Æ˙h… n˘“ V…B* 

 What are diamagnetic substances ? Give one example. 1 
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4.  x…®x…  S…j… ®…Â n˘…‰ E÷ΔÚb˜±…“ AB  ¥… CD  E‰Ú §…“S… BEÚ UÙc˜ S…÷®§…EÚ NS EÚ…‰ i…“Æ˙ EÚ“  n˘∂…… ®…Â 
S…±……x…‰ {…Æ˙  EÚ∫… E÷ΔÚb˜±…“ ®…Â |…‰ Æ˙i… v……Æ˙… §……™…” +…‰Æ˙ ∫…‰ n‰˘J…x…‰ {…Æ˙ ¥……®……¥…k…‘ Ω˛…‰M…“ ? 

  

 A bar magnet NS is moved in the direction indicated by an arrow 
between two coils AB and CD as shown in the figure. In which coil the 
direction of current will look like anti-clockwise if viewed from left  side 
? 1 

  

5. "BŒ®{…™…Æ˙-®…ËC∫…¥…‰±… E‰Ú  x…™…®…' EÚ… M… h…i…“™… ∫…®…“EÚÆ˙h…  ±… J…B* 

 Write the mathematical equation of 'Ampere-Maxwell law'. 1 

6. |……l… ®…EÚ <xp˘v…x…÷π… i…l……  u˘i…“™…EÚ <xp˘v…x…÷π… ®…Â §…⁄ƒn˘ E‰Ú +xn˘Æ˙  EÚi…x…“  EÚi…x…“ §……Æ˙ {…⁄h…« 
+…xi… Æ˙EÚ {…Æ˙…¥…i…«x… Ω˛…‰i…… ΩË˛ ? 

 How many times total internal reflection occurs in the drop for 
formation of primary and secondary rainbows ? 1 

7. i…ÆΔ˙M……O… EÚ“ {… Æ˙¶……π……  ±… J…B* 

 Write the definition of wavefront. 1 
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8. 0·12   EÚO…… p˘¥™…®……x… EÚ“ M…Ân˘ 20 ®…“/∫…‰ EÚ“ S……±… ∫…‰ M… i…®……x… ΩË˛* <∫…EÚ“ n‰˘-•……‰M±…“ i…ÆΔ˙M…nË˘P™…« 

Y……i… EÚ“ V…B* ({±……ΔEÚ  x…™…i……ΔEÚ h = 3410626 −×⋅  V…⁄±….∫…‰) 

 A ball of mass 0·12 kg is moving with a speed 20 m/s. Calculate the      

de Broglie wavelength. ( Planck constant h = 3410626 −×⋅ J.s ) 1 

9. n˘…‰ v……i…÷ EÚ“ {±…‰]ı…Â P i…l…… Q E‰Ú  ±…B +Δi…EÚ  ¥…¶…¥… V0 i…l…… +…¥…fi k… ν  E‰Ú §…“S… ¥…GÚ n˘∂……«B 
M…™…‰ ΩÈ˛* <x…®…Â ∫…‰  EÚ∫… v……i…÷ EÚ“ n‰˘Ω˛±…“ i…ÆΔ˙M…nË˘P™…« B¥…Δ EÚ…™…« °Ú±…x… + v…EÚ Ω˛…‰M…… ? 

 

 The graph between the stopping potential V0 and frequency ν  for two 
different metal plates P and Q are shown in the figure. Which of the 
metals has greater threshold wavelength and work function ? 1 

 

10. BEÚ Æ‰˙ b˜™……‰BŒC]ı¥… i…i¥… EÚ… I…™… Œ∫l…Æ˙…ΔEÚ 0·693 |… i…  ®…x…]ı ΩË˛* <∫…EÚ“ +r«˘-+…™…÷ i…l…… 
+…Ë∫…i… +…™…÷ C™…… Ω˛…‰M…“ ? 

 The decay constant of a radioactive substance is 0·693 per minute. 
What will be the half-life and mean life of it ? 1 



 5  

SS—40—Phy. SS-5540 [ Turn over 

11. EÚ…‰<« n˘… ‰ EÚ…§…« x…EÚ ™……Ë M…EÚ +r«˘S……±…EÚ…Â E‰Ú x……®…  ±… J…B*   

 Write the names of any two organic compound semiconductors. 1 

12.  §…xn÷˘ ∫…‰  §…xn÷˘ ∫…ΔS……Æ˙ EÚ… BEÚ =n˘…Ω˛Æ˙h…  ±… J…B* 

 Write one example of point to point communication. 1 

13. ¥™……{…EÚ ∫…ΔS……Æ˙ ¥™…¥…∫l…… EÚ… BEÚ §±……EÚ +…Æ‰˙J… §…x……<B*  

 Sketch a block diagram of a generalised communication system. 1 

14. C105 8−×  i…l…… C103 8−×−  E‰Ú n˘…‰  §…xn÷˘ +…¥…‰∂… BEÚ n⁄˘∫…Æ‰˙ ∫…‰ 16 ∫…‰®…“ n⁄˘Æ˙“ {…Æ˙ Œ∫l…i… 

ΩÈ˛* <x…EÚ…‰  ®…±……x…‰ ¥……±…“ Æ‰˙J…… E‰Ú  EÚ∫…  §…xn÷˘ {…Æ˙  ¥…t÷i…  ¥…¶…¥… ∂…⁄x™… Ω˛…‰M…… ?            

 Two point charges C105 8−×  and C103 8−×−  are located 16 cm apart. 
At what point on the line joining these charges the electric potential 
will be zero ? 2 

15. +{…¥……Ω˛˛ ¥…‰M… E‰Ú +…v……Æ˙ {…Æ˙ +…‰®… E‰Ú  x…™…®… EÚ… ∫…®…“EÚÆ˙h… 
→→

σ= EJ  |……{i… EÚ“ V…B*       

(V…Ω˛…ƒ ∫…ΔE‰Úi……Â E‰Ú ∫……®……x™… +l…« ΩÈ˛) 

 Obtain the equation 
→→

σ= EJ  of Ohm's law on the basis of drift velocity. 
(Where symbols carry their usual meanings). 2 

16. n˘…‰ ∫…‰±……Â E‰Ú  ¥…t÷i… ¥……Ω˛EÚ §…±… 1E  ¥… 2E  i…l…… +…xi… Æ˙EÚ |… i…Æ˙…‰v… GÚ®…∂…: 1r  ¥… 2r  ΩÈ˛* <xΩÂ˛ 

∏…‰h…“GÚ®… ®…Â V……‰c˜x…‰ {…Æ˙ i…÷±™…  ¥…0 ¥……0 §…±… i…l…… i…÷±™… +…xi… Æ˙EÚ |… i…Æ˙…‰v… EÚ… ®……x… |……{i… 
EÚ“ V…B* 

 Two cells of emfs 1E  and 2E  are connected in series. Their internal 
resistances are 1r  and 2r  respectively. Compute the equivalent emf 
and equivalent internal resistance. 1 + 1 = 2 
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17. r i…l…… R  j…V™……+…Â EÚ“ n˘…‰ ∫…ΔE‰Úxp˘“™… ¥…fik……EÚ…Æ˙ E÷ΔÚb˜ ±…™……ƒ ∫…®……I… ∞¸{… ®…Â Œ∫l…i… ΩÈ˛*          
™… n˘ R >> r  Ω˛…‰ i……‰ E÷ΔÚb˜ ±…™……Â E‰Ú §…“S… +x™……‰x™… |…‰Æ˙EÚi¥… Y……i… EÚ“ V…B* 

 Two concentric circular coils of radii r and R are placed coaxially with 
centres coinciding. If R >> r then calculate the mutual inductance 
between the coils. 2 

18.  ¥…t÷i… S…÷®§…EÚ“™… ∫{…‰C]≈ı®… E‰Ú =x…  ¥… EÚÆ˙h……Â E‰Ú x……®…  ±… J…B V……‰ 

a) ¥……i……¥…Æ˙h… ®…Â +…‰V……‰x… {…Æ˙i… u˘…Æ˙… +¥…∂……‰ π…i…  EÚ™…‰ V……i…‰ ΩÈ˛  

b) =SS… ¥…‰M… ¥……±…‰ <±…‰C]≈ı…Ïx……Â EÚ“ v……i…÷ ±…I™… {…Æ˙ §…®…§……Æ˙“ ∫…‰ =i{…z… Ω˛…‰i…‰ ΩÈ˛ 

c) ∫…ΔS……Æ˙ ={…O…Ω˛ ®…Â |…™…÷HÚ Ω˛…‰i…‰ ΩÈ˛ 

d) ±…M…¶…M… 400 nm ∫…‰ 700 nm i…ÆΔ˙M…nË˘P™…« {…Æ˙…∫… Æ˙J…i…‰ ΩÈ˛˛*  

Identify the constituent radiations of electromagnetic spectrum which 

a) is absorbed by ozone layer in the atmosphere 

b) is produced by bombarding a metal target by high speed electrons 

c) is used in satellite communicatoin 

d) has wavelength range between 400 nm to 700 nm. 

   1
2  + 12  + 12  + 12  = 2 

19. ∫…⁄I®…n˘∂…‘ EÚ“  ¥…¶…‰n˘x… I…®…i…… EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B* <∫…EÚ… ∫…⁄j…  ±… J…B* ™…Ω˛  EÚ∫… |…EÚ…Æ˙ 
|…¶…… ¥…i… Ω˛…‰i…“ ΩË˛, V…§… 

a) +…{… i…i… |…EÚ…∂… EÚ“ i…ÆΔ˙M…nË˘P™…« P…]ıi…“ ΩË˛ ? 

b) + ¶…o˘∂™…EÚ ±…Â∫… EÚ… u˘…Æ˙EÚ P…]ıi…… ΩË˛ ? 
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 Define resolving power of microscope. Write its formula. How will it 
vary, when  

a) wavelength of incident light is decreased ? 

b) aperture of the objective lens is decreased ?  12  + 12  + 12  + 12  = 2 

20. 14106 ×  Ω˛]«¬ıV… +…¥…fi k… EÚ… BEÚ¥…h…‘™… |…EÚ…∂… ª……‰i… |… i… ∫…‰EÚhb˜ 3102 −×  V…⁄±… >V……« 
=i∫…ÃV…i… EÚÆ˙i…… ΩË˛* ª……‰i… u˘…Æ˙… |… i… ∫…‰EÚhb˜ =i∫…ÃV…i… °Ú…‰]ı…x……Â‰ EÚ“ ∫…ΔJ™…… Y……i… EÚ“ V…B* 

 A monochromatic light source of frequency 14106 ×  Hz is emitting 

energy at the rate 3102 −×  J/s. Calculate the number of photons 
emitted per second by the source.  2 

21. p-n ∫…Δ v… E‰Ú  x…®……«h… E‰Ú  ±…B n˘…‰ ®…Ω˛i¥…{…⁄h…« |… GÚ™……+…Â E‰Ú x……®…  ±… J…B* <∫…®…Â ø…∫…“ I…‰j… 
(+¥…I…™… I…‰j…) B¥…Δ Æ˙…‰ v…EÚ…  ¥…¶…¥… EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B* 

+l…¥…… 

 n˘…‰ ∫……¥…« j…EÚ i……ÃEÚEÚ u˘…Æ˙…Â E‰Ú x……®…  ±… J…B* BEÚ“EfiÚi… {… Æ˙{…l…  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ? <∫…E‰Ú n˘…‰ ±……¶… 
 ±… J…B* 

 Write the names of two important processes which occur on formation 
of p-n junction. Define the 'depletion region' and 'potential barrier'     in 

it.  1
2  + 12  + 12  + 12  = 2 

OR 

 Write the names of two universal logic gates. What is integrated   

circuit ? Write two advantages of it. 1
2  + 12  + 12  + 12  = 2 
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22. Ω˛…<b≈˜…‰V…x… {…Æ˙®……h…÷ EÚ“  x…®x…i…®… +¥…∫l…… ®…Â >V……« –13·6 eV ΩË˛* <∫… n˘∂…… ®…Â <±…‰C]≈ı…Ïx… EÚ“ 
M… i…V… >V……« i…l…… Œ∫l… i…V… >V……« Y……i… EÚÆÂ˙* 

 The energy of the electron in the ground state of hydrogen atom          
is –13·6 eV. Find the kinetic energy and potential energy of electron in 
this state. 1 + 1 = 2 

23. ∫…®…“EÚÆ˙h… 3
1

ARR o=  E‰Ú +…v……Æ˙ {…Æ˙ n˘∂……«<™…‰  EÚ x…… ¶…EÚ“™… p˘¥™… EÚ… P…x…i¥… ±…M…¶…M… +S…Æ˙ 

Æ˙Ω˛i…… ΩË˛* (™…Ω˛…ƒ oR  BEÚ  x…™…i……ΔEÚ i…l…… A p˘¥™…®……x… ∫…ΔJ™…… ΩË˛)  

 From the equation 3
1

ARR o= , show that the nuclear matter density is 

nearly constant. [ Where oR  is a constant and A is the mass    
number. ] 2 

24. ®……b÷˜±…x… EÚ“ +…¥…∂™…EÚi…… E‰Ú  ±…B EÚ…‰<« n˘…‰ EÚ…Æ˙h…  ±… J…B* 

 State any two reasons for necessity of modulation. 1 + 1 = 2 

25. LCR ∏…‰h…“ +x…÷x……n˘“ {… Æ˙{…l… ®…Â |…i™……¥…i…‘ v……Æ˙… EÚ… +…¥…fi k… E‰Ú ∫……l… {… Æ˙¥…i…«x… n˘∂……«x…‰ ¥……±…… 
¥…GÚ J…” S…B i…l…… §…Ëhb˜ S……Ëc˜…<« E‰Ú  ±…B ¥™…ΔV…EÚ |……{i… EÚ“ V…B*  

 Draw a curve for showing variation in alternating current with 
frequency in LCR resonant circuit. Hence obtain an expression of 
bandwidth. 1 + 2 = 3 

26. =¶…™… x…π`ˆ =i∫…V…«EÚ  ¥…x™……∫… ®…Â npn ]≈ı…Δ V…∫]ıÆ˙ EÚ… {… Æ˙{…l… EÚ…  S…j… §…x……<™…‰, i…l……  x…M…«i… 
+ ¶…±……I… h…EÚ ¥…GÚ J…”S…x…‰ E‰Ú  ±…B EÚ…™…« ¥… v… ∫…®…Z……<B* 

 Draw the circuit diagram of npn transistor in common emitter 
configuration. Hence describe the working method to obtain output 
characteristic curve. 1 + 2 = 3 
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27. 3 ∫…‰®…“ +…EÚ…Æ˙ EÚ“ EÚ…‰<« ¥…∫i…÷ 40 ∫…‰®…“ ¥…GÚi……  j…V™…… E‰Ú  EÚ∫…“ +¥…i…±… n˘{…«h… ∫…‰ 30 ∫…‰®…“ 
n⁄˘Æ˙“ {…Æ˙ Œ∫l…i… ΩË˛* n˘{…«h… ∫…‰ |… i… §…®§… EÚ“ n⁄˘Æ˙“ ¥… +…EÚ…Æ˙ Y……i… EÚÆÂ˙ B¥…Δ |… i… §…®§… EÚ“ |…EfiÚ i… 
§…i……<B* 

+l…¥…… 

 ™…ΔM… E‰Ú  u˘ Z…Æ˙‘ |…™……‰M… ®…Â  Z…ÃÆ˙™……Â E‰Ú §…“S… EÚ“ n⁄˘Æ˙“ 0·28 mm i…l…… {…nÊ˘ EÚ“ n⁄˘Æ˙“ 1·4 m ΩË˛* 
™… n˘ E‰Úxp˘“™… n˘“{i… À£ÚV… ∫…‰ S……Ël…“ n˘“{i… À£ÚV… EÚ“ n⁄˘Æ˙“ 1·2 cm Ω˛…‰ i……‰ |…™…÷HÚ |…EÚ…∂… EÚ“ 
i…ÆΔ˙M…nË˘˘P™…« Y……i… EÚ“ V…B* 

 An object of size 3 cm is placed at 30 cm in front of a concave mirror of 
radius of curvature 40 cm. Find the distance and size of image from 
the mirror and describe the nature of the image.  1 + 1 + 1 = 3 

OR 

 In Young's double-slit experiment, the slots are separated by 0·28 mm 
and the screen is placed 1·4 m away. If the distance between the 
central bright fringe and the fourth bright fringe is 1·2 cm, determine 
the wavelength of light used in the experiment.   3 

28.  ¥…t÷i… }±…C∫… EÚ“ {… Æ˙¶……π……  ±… J…B* M……=∫… E‰Ú  x…™…®… u˘…Æ˙…  EÚ∫…“ BEÚ ∫…®……x… ∞¸{… ∫…‰ 
+…¥…‰ ∂…i… +x…xi…  ¥…∫i……Æ˙ E‰Ú ∫…“v…‰ i……Æ˙ E‰Ú EÚ…Æ˙h…  EÚ∫…“  §…xn÷˘ {…Æ˙  ¥…t÷i… I…‰j… EÚ“ i…“μ…i…… EÚ… 
¥™…ΔV…EÚ |……{i… EÚ“ V…B* +…¥…∂™…EÚ  S…j… §…x……<B* 

+l…¥……  

  ¥…t÷i… v…… Æ˙i…… EÚ“ {… Æ˙¶……π……  ±… J…B* BEÚ ∫…®……xi…Æ˙ {…^ı ∫…Δv…… Æ˙j… EÚ…‰ {±…‰]ı…Â E‰Ú §…“S…          
K {…Æ˙…¥…Ët÷i……ΔEÚ EÚ… ®……v™…®… ¶…Æ˙… Ω÷˛+… ΩË˛* <∫…EÚ“ v…… Æ˙i…… EÚ… ¥™…ΔV…EÚ |……{i… EÚ“ V…B* +…¥…∂™…EÚ 
 S…j… §…x……<B* 
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 Define electric flux. Apply Gauss' law to obtain an expression for the 
electric field intensity at a point due to an infinitely long uniformly 
charged straight wire. Draw the necessary diagram. 1 + 2 + 1 = 4 

OR 

 Define electric capacity. Derive an expression for the capacitance of a 
parallel plate capacitor in which a dielectric medium of dielectric 
constant K fills the space between the plates. Draw the necessary 
diagram. 1 +  2 + 1 = 4 

29. n˘…‰ ∫…“v…‰ ∫…®……xi…Æ˙ v……Æ˙…¥……Ω˛“ S……±…EÚ…Â E‰Ú §…“S… |… i… <EÚ…<« ±…®§……<« {…Æ˙ §…±… EÚ… ¥™…ΔV…EÚ |……{i… 
EÚ“ V…B*  EÚ∫… +¥…∫l…… ®…Â ™…Ω˛ §…±… +…EÚπ…«h… ¥… |… i…EÚπ…«h… EÚ… Ω˛…‰i…… ΩË˛ ?  ¥…t÷i… v……Æ˙… E‰Ú 
®……x…EÚ ®……j…EÚ EÚ“ {… Æ˙¶……π……  ±… J…B* 

+l…¥……  

 BEÚ <±…‰C]≈ı…Ïx… r  j…V™…… EÚ“ ¥…fik……EÚ…Æ˙ EÚI…… ®…Â v S……±… ∫…‰ {… Æ˙GÚ®…… EÚÆ˙ Æ˙Ω˛… ΩË˛* <∫…EÚ… P…⁄h…« 
S…÷®§…EÚ“™… +x…÷{……i… EÚ… ¥™…ΔV…EÚ |……{i… EÚ“ V…B* §……‰Æ˙ ®…ËMx…‰]ı…x…  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ? <∫…EÚ… ®……x… 
 ±… J…B* 

 Derive an expression for the force per unit length acting on the two 
straight parallel current carrying conductors. In which condition will 
this force be attractive and repulsive ? Define the standard unit of 
current. 2 +  12  +  12  + 1 = 4 

OR 

 An electron is revolving with speed v in a circular orbit of radius r. 
Obtain the expression of gyromagnetic ratio. What is a Bohr   
magneton ? Write its value.  3 + 12  +  12  = 4 

30. +{…¥…i…‘ n⁄˘Æ˙n˘∂…‘ EÚ… BEÚ x……®……Δ EÚi…  EÚÆ˙h… +…Æ‰˙J… §…x……<B* <∫…EÚ“ +…¥…v…«x… I…®…i…… EÚ… ¥™…ΔV…EÚ 
|……{i… EÚ“ V…B* {…Æ˙…¥…i…‘ n⁄˘Æ˙n˘∂…‘ EÚ“ i…÷±…x…… ®…Â +{…¥…i…‘ n⁄˘Æ˙n˘∂…‘ EÚ“ n˘…‰ ®…÷J™… EÚ ®…™……ƒ  ±… J…B* 

+l…¥……  

 BEÚ±…  Z…Æ˙‘ u˘…Æ˙…  ¥…¥…i…«x… |… i…∞¸{… ®…Â =i{…z… À£ÚV……Â EÚ“ i…“μ…i……  ¥…i…Æ˙h… EÚ… i…÷±…x……i®…EÚ O……°Ú 
J…” S…B* E‰Úxp˘“™… =ŒSS…π`ˆ EÚ“ S……Ëc˜…<« EÚ… ¥™…ΔV…EÚ |……{i… EÚ“ V…B* ™… n˘  Z…Æ˙‘ EÚ“ S……Ëc˜…<« n÷˘M…x…“ 
EÚÆ˙ n‰˘ i……‰ E‰Úxp˘“™… =ŒSS…π`ˆ EÚ“ S……Ëc˜…<« {…Æ˙ C™…… |…¶……¥… {…c‰˜M…… ? 
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SS—40—Phy. SS-5540 [ Turn over 

 Draw a labelled ray diagram of a refractive telescope. Deduce an 
expression of magnifying power of it. Write two main limitations of a 
refracting type telescope over a reflecting type telescope.  

   1 + 2 + 12  + 12  = 4 

OR 

 Draw a graph to show the relative intensity distribution for a single slit 
diffraction pattern. Obtain the expression for the width of central 
maxima. If slit width is doubled then what is the effect on width of 
central maxima ? 1 + 2 + 1  = 4 

      


